BoxAfigx 1100 X 1100mm
CEE1 AN L=142. 000m>



0.973

|

|

|

|

|

|

|

i

/ - o

| o

1 ~

I N

I 3

' ™

| —

! 0.500 0.065

AN | ' "

|

| —

; 2

1 My v

: o

|

|

|

1.560 R
0.565 , 1.360 0.565
2.490 .

[J1100mm x 1100%1 5% T
HRRER = 142.000 m
hRERE = 1.250 m
HEIBERE = 1500 m
T H%Y = 0.973 m2
RHIE = 2703 m
HREE 142.00 - 1.250 = 140.750 m
RHIER 142.00 - 1.500 = 140.500 m
HBER 142.00 - 1.500 = 140.500 m



H_H M K O H A % &

1. Ay 7 2% T (01100 X 1100 X 2000mm, X 53OD0<B=1. 25m, 0=H=1. 25m)

1—1. By ARBRIER = 142. 000 m
Ptk g = 140. 750 m
PRAIAE & = 140. 500 m

1—2. Ry 2 E %
N= 1100 X 1100 X 2005 : {=#& (F2H A ZH) =
N= 1100 X 1100X 2005 : FEH#ETEARBI O (4 AH X A FH) =
N= 1100 X 1100 X 2005 : #2#E A\FLIF (A AH A AFH) =
N= 1100 X 1100X 1005 : SR (A AERX 2 f) =
N= 1100 X 1100X 1505 : SR (A A H A A ) =
N=1100X1100X 1251 : SR (A AERX ZF) =
N= 1100 X 1100X 1800 : SR (A AERX 2 F) =
N= 1100 X 1100X 1571 : FR (A AH A A ) =
N= 1100 X 1100X 1638 : R (A AH A A ) =
N= 1100 X 1100X 1447 : R (FAERX 2 F) =

(

(A

(

(

(

(

w

N=1100X1100X 1309 : SR (F R HERX Zf) =
N= 1100 X 1100X 1255 : SR (A AERX 2 F) =
N=1100X1100X 1451 : SR (FRHE X Zf) =
N=1100X1100X 1783 : R (A AH A A ) =
N= 1100 X 1100X 1611 : R (A H A A ) =
N=1100X1100X 1488 : 5 R (F R M X Zf) =
N=1100X1100X 1518 : SR (A AERX 2 F) =
N=1100X1100X853 : RN (A A F A ALE) =
N= 1100 X 1100X 1122 : #&18] (A H A A ) =
N=1100X1100X925 : £ (A A G A A L) =
N=1100X 1762 X 1500 : 575 T. =
N= 1100 X 1600 X 1500 : 575 T. =
N= 1400 X 682 t=2003Fk# =
N= 1400 X520 t=2003Fk# =
N= 1360X 1360 t=2003Fk# =

—_

DN
— DN DD = e = SN = 00 DN WO~

i s s s s s s s e e s s e s s e e e s e e

1—3. Ay ARMBET
FAEIE R = 140. 500 m
a7 Y — F18N/mm2 t=10cm

V= 1.560X0. 150X 140. 500 = 32. 88 m3

S= 140. 500X 0. 150 X 2+1. 560 X 0. 150 = 42. 38 m2
WA Bt [RC-40, £=0. 20m
S= 1. 560 X 140. 500 = 219. 18 m2
VAV L |FE A 1:3t=0. 02m

V= 1. 360X 140. 500 X 0. 02 = 3.82 m3




(2)

HOH me B & O FE A B &=
2. &1
2—1. @BHIT Ny 78 T 4EHI0. 80m3
V=2.490 X 2. 703 X 140. 500 = 945. 63 m3
2—2. HIELL (341
P 1 V= 2. 490X 2. 703 X 140. 500 = 945. 63 m3
PERRAN » 7 A V= 1. 360X 1. 360 X 140. 500 = -259. 87 m3
PEBRIECHE ) ) -] V= 1. 560 X 140. 500 X 0. 150 = -32. 88 m3
PEBR IR V= 1. 560 X 140. 500 X 0. 200 = -43. 84 m3
PERRE L Z L V= 1. 360 X 140. 500 X 0. 020 = -3.82 m3
FERE V= 1. 360X 0. 200X 1. 360 = -0. 37 m3
G 604. 85 m3
2—3. TWiERT
PR - T T PR A 5/0.9
V=604.85 <+ 0.9 = 672. 06 m3
P A T V= 945.63 = 945. 63 m3
2—4. Rt
V= 945. 63-672. 06 = 273.57 m3
3. [T
AT T8 T (H=3. 0) = 140. 500 m
FFES= 3. OmX 2f% A X 140. 500 = 843. 00 m2
(L7 F Bw= 18.400--30. 0X30. 0 = 18.40 t
BCROUM ALK ¢ 15em  L=2. 0m
A HIN=140. 500 3. 00 46.8 47 fEAT
MRIN= 47 X 2 = 94 {E
L= 0. 400m/A< X 941E It = 37.60 m
V=37.6X0.15 "~ 2X3.14/4 = 0.7 m3
PibS E W= = 18.40 t
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4)

HOH me B & O FE A B &=

4—1. AML&RET = 3 tE T

EEGE (0.930+1. 020+1. 060) +3 = 1.00 m

NFLERE & 5 A VL ¢ 600mmi 3 = 34
Y T H=50mm 1 &P
H=150mm N
H=200mm I

e B 25mm 3

RLEE 600 X 900 X 450 3 1

LY [ELRE H=300mm 3 1

5. ®300mmVUE F%E T

AR EAE T = I

U SE & = 1.5m

7 90° = 1 &

T—r v NEE = 1.5m

V)= T | B
{(0.318+0. 150 X2) "2- 7 /4% 0. 318”2} X 0. 250 = 0. 08 m3
P T | A7 (0. 318+0. 150X 2) X 4 X 0. 250 = 0. 62 m2




3. EHPREIEOBE Y, H = 3.00 m
AfLES - A 4L eI SR A i (1R
PRIEE 7 ISR/ OB ERO® @©=@+®/72 ®=0x® iR
T i @D T ® (m) (m2)

2.610

3-1 1.853 2.470 2.540 4.707
2.970

3-1 6.533 2.470 2.720 17.770
2.970

3-1 6.503 2.470 2.720 17.688
2.970

3-1 6.921 2.430 2.700 18.687
2.930

3-1 9.098 2.410 2.670 24.292
2.910

3-1 12.481 2.410 2.660 33.199
2.910

3-1 12.285 2.410 2.660 32.678
2.910

3-1 12.339 2.420 2.665 32.883
2.920

3-1 12.477 2.410 2.665 33.251
2.910

3-2 22.988 2.380 2.645 60.803
2.880

3-2 22.924 2.380 2.630 60.290
2.880

3-2 6.266 2.690 2.785 17.451
3.350

3-2 3.010 3.210 3.280 9.873
3.210

3-2 6.317 3.200 3.205 20.246

>® = 383.818

L1= 141.995 m HNE FHHEEIZE :HO
& E L2 = mHO= Y®+1= 383.818 + 141.995= 2.703 m
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S
AT 1m3
£ Hl e = T = % + i = i =
PR A 434. 8 R Ya
BT 32.5 WaE
HEL 53. 2 iYa P
PEHIFH 434. 8 & 15t 85. 7
PEAIFE %5t EAbH
5 - ALBR 434.8 — 85.7 / 0.9 339. 6 m3
EimEE (O +) 56. 2 m2
ERTIE: - A ) 49. 2 m2
FFEIE 111.7 m2




oH REEE
T BEl Wr om FH S5 F I &= T
m m m°
IP. 1(7.00) —— R e
No.1 13. 00 3.1 2. 60 33.8
No.2 20. 00 3.1 3.10 62. 0
1P. 2.(60. 00) 20. 00 3.4 3.25 65. 0
No.4 20. 00 3.4 3. 40 68. 0
No.5 20. 00 3.0 3.20 64. 0
No.6 20. 00 2.9 2.95 59. 0
IP. 3 (140. 00) 20. 00 2.7 2. 80 56. 0
IP. 3+10.0 10. 00 2.7 2.70 27.0
B Er 143. 00 434.8 m?




b ERAE
| fisi Ml W om A YA 1 A = B
2 2 3
m m m
RAAI
No.2+2. 00~ — 0.1 |  — |
~+18. 00 16. 00 0.6 0. 35 5.6
/NEHD 5.6
R
No.A~ — 0.1 |  — |
~+14. 00 14. 00 0.6 0. 35 4.9
/NEHD) 4.9
LAl
IP. 3(140. 00) ~ — 0.1 |  — |
8. 50 8. 60 1.7 0. 90 7.7
2.50 2.0 1.85 4.6
~+10. 60 2.00 0.0 1. 00 2.0
/NEHB) 14.3
RAAI
IP. 3(140. 00) ~ — 0.1 |  — |
6. 60 6. 60 1.3 0.70 4.6
1. 60 1.8 1.55 2.5
~+8. 20 0. 70 0.0 0. 90 0.6
/NEF@ 7.7
&t 32.5 m?




#HOR tEREE

T BEl Wr om FH S5 F &= T
m m m°
IP. 1(7.00) —— 04 | -— | @ —
No.1 13. 00 0. 4 0. 40 5.2
No.2 20. 00 0. 4 0. 40 8.0
1P. 2.(60. 00) 20. 00 0. 4 0. 40 8.0
No.4 20. 00 0. 4 0. 40 8.0
No.5 20. 00 0.3 0.35 7.0
No.6 20. 00 0.3 0. 30 6.0
IP. 3 (140. 00) 20. 00 0. 4 0.35 7.0
IP. 3+10.0 10. 00 0. 4 0. 40 4.0
B Er 143. 00 53.2 m°




BB T (Ut maEtEE

| I fisi e hER B R T A B
nm
RAAI
No.0+13. 00 — 0.0 |  @— |
14. 50 1.50 0.8 0. 40 0.6
No.1 5. 50 0.7 0.75 4.1
18. 00 18. 00 0.4 0. 55 9.9
No.2 2.00 0.0 0. 20 0.4
/NEHD 15.0
LAR
No.2+4. 00 — y ' A N
IP. 2(40. 00) 16. 00 0.3 0.70 11.2
1. 00 1. 00 0.0 0.15 0.2
/NEHD) 11.4
LAA
IP. 2+3. 00 — 0.0 |  @— |
5. 00 2.00 1.8 0. 90 1.8
18. 50 13. 50 1.1 1.45 19.6
No.4 1.50 0.0 0. 55 0.8
/NEHB) 22.2
LARY
No.5+19. 80 — oo |  — |  —
No.6 0. 20 0.3 0.15 0.0
0. 50 0. 50 1.0 0. 65 0.3
15. 00 14. 50 0.0 0. 50 7.3
JNEH@D 7.6
&t &t 56.2 nt




TR T (E) ARG Nol
| I fisi e hER B R T A B EE
nm
RAAI
No.2+2. 00 — .2 | -— |  —
18. 00 16. 00 1.1 0. 65 10. 4
18. 20 0. 20 0.0 0. 55 0.1
/NEHD 10.5
R
No.4 — .3 |  -— |  —
14. 00 14. 00 1.4 0. 85 11.9
/NEHD) 11.9
LAl
IP. 3~ — oo |  — |  —
8. 00 2.2 1.10 8.8
0. 50 0.0 1.10 0.6
8. 50 0. 00 0.0 0. 00 0.0
0. 50 2.2 1.10 0.6
2.00 2.4 2.30 4.6
2.00 0.0 1.20 2.4
/NEHB) 17.0
RAAI
IP. 3~ — oo |  — |  —
6. 10 1.8 0. 90 5.5
0. 50 0.0 0. 90 0.5
6. 60 0. 00 0.0 0. 00 0.0
0. 50 1.8 0. 90 0.5
1. 10 2.5 2.15 2.4
0. 70 0.0 1.25 0.9
/NEF@ 9.8
&t &t 49.2 nf




HmEIE  EEE
LA ER
pa R JHE i i [ kS
BRI A B %%
B Fh A B 400 X 600 0.78 135. 4 105.6
VY9 7N 300 X 300 0. 64 5.2 3.3
ALK P G-B500-1.500 0. 80 2.0 1.6
ALK P G-B700-L700 1.20 1.0 1.2
&t 111.7 m2




B HE

2 il

p

b3
beln

B R AERE
400 X 600

B HaEAE
WH-bE
W=400 L=500

B R AERE
Y-t E
W=400 L=1000

YRR =b
300 x 300
T-25

gkt
500 x 500 x 600

gkt
TL-FuhE
500 X 500 T-25

gokmt2
500 X 500 X 900

gkt
TL-FuhE
500 X 500 T-25

gEkm3
700 X 700 X 900

Skt
TL-FuhE
700 X 700 T-25

L=109.0+26.4

135.4

107.0

14.0

5.2

1.0

1.0

1.0

1.0

1.0

1.0

135.4m

1074

148

5.2m

1&

18

1R

18

18




ol

% &

kB 1

G2-B500-L500~
H600

kM1 (G2-B500-L500-H600)

——— 1YY ———

« 227 J— b (18-8-25BB)

v 1=0.80X0.80X0.75 X1

—v2=0.50X0.50X0.60 X1

— v 3=0.23X%0.30%X0.15 X1(BF300)

—v4=0.44X0.44x0.15 X 1(PB-B300-H300)

a1=0.80X0.75X2 X1

a2=0.80X0.75X2 X1

a3=0.50Xx0.75X2 X1

a4=0.50Xx0.75X2 X1

—ab=0.23X0.30x2 X1(BF300)

—a6=0.44X0.44X2 X1(PB-B300-H300)

< L —F T ET-25(500 X 500 /1)

« FLi A4 (RC-40, t=15cm)
A=0.90X0.90 X1

Qg 3
A=0.90%0.90 X1

XV

ZA

-0.15

-0.01

-0.03

0.29 m3

1 #%

0.8 m2

0.8 m2

G2-B500-L500-H600

n= 1&FT

LT D —

av s y—+

V=0.29 m3

TV —F 7 #ET-25

n=1#¢

IR
A=0.8 m2

S s H
A=0.8 m2




ol

% &

LK k2

G2-B500-L500~
H900

k2 (62-B500-L500-H900)

——— 1YY ———

« 227 J— b (18-8-25BB)

v 1=0.80X0.80X1.05 X1

—v2=0.50X0.50X0.90 X1

— v 3=0.44X0.44x0.15 X 1(PB-B300-H300)

—v4=0.60X0.40X0.15 X1(VS400%600)

— v5=0.60X0.40X0.15 X1(VS400%600)

al=0.80X1.05X2 X1

a2=0.80X1.05X2 X1

a3=0.50X1.05X2 X1

a4=0.50Xx1.05X2 X1

— ab5=0.44X0.44X2 X1(PB-B300-H300)

—a6=0.60X0.40X2 X1(VS400%600)

—a7=0.60X0.40X2 X1(VS400%600)

- T L —F 7 ET-25(500 X 500 )

« A4 (RC-40, t=15cm)
A=0.90X0.90 X1

- PR

A=0.90X0.90 X1

XV

ZA

-0.23

-0.03

-0. 04

-0. 04

0.35 m3

4.1 m2

1

0.8 m2

0.8 m2

G2-B500-L500-H900

n= 1&FT

LT D —

av s y—+

V= 0.35 m3

TV —F T HET-25

n=1#¢

SRS
A=0.8 m2

S T i

A=0.8 m2




ol

% &

LK

G2-B700-L700-
H900

k3 (G2-B700-L700-H900)

——— 1YY ———

« 227 J— b (18-8-25BB)

v1=1.00X1.00X1.05 X1

—v2=0.70X0.70X0.90 X1

— v 3=0.60X0.40X0.15 X1(VS400%600)

—v4=0.68X0.70x0.15 X 1(PB-B500-H500)

al=1.00X1.05X2 X1

a2=1.00X1.05X2 X1

a3=0.70X1.05X2 X1

a4=0.70X1.05X2 X1

—ab5=0.60X0.40X2 X1(VS400%600)

— a6=0.68X%0.70X2 X1(PB-B500-H500)

« J L —F 7 ZET-25(700X 7T00/H)

- JEHERT (RC-40, t=15cm)

A=1.10X1.10 X1

A=1.10X1.10 X1

XV

A

-0. 44

-0. 04

-0. 07

0.50 m3

-1.0

5.7 m2

1 #%

1.2 m2

1.2 m2

G2-B700-L700-H900

n= 1&FT

LT D —

av s y—+

V= 0.50 m3

TV —F T HET-25

n=1#¢

FLUERT

A=1.2 m2

S s H

A=1.2 m2




H =
4 R 7 " = v &
AR SR T
HET = = 727.6 727.6  m2
(BB R EEAS20F t=4cm)
BT = = 727.6 727.6  m2
(M-40 t=15cm)
TE T = = 699. 1 699.1 m2
(RC-40 t=25cm)
FNG= = = 727.6 727.6  m2
B ETE T
FE 1 = = 36. 6 36.6 m2
(BB R EEAS20F t=4cm)
BT = = 36. 6 36.6 m2
(M-40 t=15cm)
NN = = 36. 6 36.6 m2
I [H] =143.0 « 2.0 = 286. 0 286.0 m




KL - LERET mHEEEE

il I i) it e 25 g 1AL . 14

m
IP. 1 (7.00) — 50 | - | @ —
No.1 13. 00 5. 00 5. 00 65. 0
No.2 20. 00 5. 00 5. 00 100. 0
IP. 2 (60.00) 20. 00 5. 00 5. 00 100. 0
No.4 20. 00 5. 00 5. 00 100. 0
No.b 20. 00 5. 00 5. 00 100. 0
No.6 20. 00 5. 00 5. 00 100. 0
IP. 3 (140.00) 20. 00 5. 00 5. 00 100. 0
7.10 7.10 5. 00 5. 00 35.5
7.10 0. 00 5. 80 5. 40 0.0
8. 60 1. 50 7.70 6. 75 10. 1
10. 60 2. 00 9. 30 8. 50 17.0

Jat 727.6 nf

oz 727.6 ni




TEBET mE

R E

Ho R B e 25 g T ] T

m

IP. 1 (7.00) —— 480 | - 1

No.1 13. 00 4. 80 4. 80 62. 4

No.2 20. 00 4. 80 4. 80 96. 0

IP. 2 (60.00) 20. 00 4. 80 4. 80 96. 0

No.4 20. 00 4. 80 4. 80 96. 0

No.5 20. 00 4. 80 4. 80 96. 0

No.6 20. 00 4. 80 4. 80 96. 0

IP. 3 (140.00) 20. 00 4. 80 4. 80 96. 0

7.10 7.10 4. 80 4. 80 34. 1

7.10 0. 00 5. 60 5. 20 0.0

8. 60 1. 50 7. 50 6. 55 9.8

8. 60 0. 00 7.70 7.60 0.0

10. 60 2. 00 9. 30 8. 40 16. 8
JNEF 699. 1 nt
BEr 699.1 ni




HufrdideE miEetHEE
H P A i g T AT THFE T FE . T
m m m m
LA No.1+15. 60
~No.2+1.30]  4.90 5.70 5. 30 1. 00 5.3
RH No.2+18. 00
~1P, 2+4. 00| 5.80 5. 30 5.55 1. 00 5.6
RH No.4+14. 20
~No.5+4. 00| 9. 60 9. 80 9. 70 1. 00 9.7
RH No.5+13. 00
~+19. 00| 6.00 6. 00 6. 00 1. 00 6.0
LA No.5+13. 40
~+18.00] 3.30 4. 60 3.95 1. 00 4.0
RH No.6+11. 80
~+17.80| 6.00 6. 00 6. 00 1. 00 6.0
JNEF 36.6 ni
&2 36.6 mi




BET No.1
& Jill g =X # =
A AR LI
t=5cm L=7.7+6.0+9.6+4.6 = 279 27.9m
SRR ET
t=5cm A=2.7(FE1J)*143.0 = 386.1 386.1m2
S kR ALIE V=386.1%0.05 = 19.3 19.3m3
t=5cm
IV9)-FEEEL BFZ500 N=6+3+4=13%k
(ZRELG)
V=13%0.05 = 065
BF-I500 L=135.0m
V=135.0%0.07 = 945
BFZ300 N=4#%
V=4%0.02 = 0.08
BF-I300 L=4.0m
V=4.0%0.03 = 012
BZE  800%900%140 N=6#%
V=0.80%0.90%0.14%6.0 = 0.60
BE 780%1100%140 N=14%
V=0.78%1.10%0.14%1.0 = 012
BE 75045604100 N=1#%
V=0.75%0.56%0.10%1.0 = 0.04
BE  620%620%65 N=14%
V=0.62*0.62%0.065%1.0 = 0.02
B 11.08 11.1m3




BMET No.2
i bill g =X o =
av9Y)-MEREEL
€37 @ #&7°Av4(250%400%350) N=10{&
V=0.25%0.4%0.35%10 0.35
B® avy-+EHE t=20
V=6.4%0.5%0.2 0.64
®©Q av9Y-MERE
V=0.60%0.15%1.6 0.14
®Q av9Y-MgEEE
V=1.20%0.20%1.3 0.31
@ av9Y-MgERE
V=1.20%0.20%6.0 1.44
G av9Y-MERE
V=0.50%0.15%4.7%2 0.71
@ &sk#t B700-L700-H600
V=1.00%1.00%0.75-0.70%*0.70%0.60 0.46
4.05 4.1m3
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